<u>Description</u>	Quantity	Unit Price	Total price
009 Bore solvent Aerosol	8	£7.50	£60.00
009 Bore Solvernt Bottle	10		
Express Oil Aerosol	6		
Express Oil Dropper	5		
F1 cleaning patches	17		
F2 cleaning Patches	18	£1.95	£35.10
F3 cleaning patches	16	£2.85	£45.60
Clenzoil	2	£11.95	£23.90
Round cleaning patches	6	£3.00	£18.00
Brass Jags 22	10	£5.00	£50.00
Brass Jags .37	6	£4.95	£29.70
Brass Jags.35	3	£4.95	£14.85
Brass Jags .30	5	£4.95	£24.75
Brass Jags .410	2	£4.95	£9.90
Pierce jags.17	3	£6.95	£20.85
Pierce jags .22	3	£6.95	£20.85
Pierce jags .30	5	£6.95	£34.75
Wool Mops .22	6	£3.15	£18.90
Wool Mops 30	4	£3.15	£12.60
Wool Mops.45	6	£3.15	£18.90
Wool Mops .410	4	£3.15	£12.60
Wool Mops 12b	6	£3.15	£18.90
wool Mops 8b	7	£3.15	£22.05
Phosphor Bronze Brush 22	8	£4.80	£38.40
Phosphor Bronze Brush 30	6	£4.80	£28.80
Phosphor Bronze Brush 35	13	£4.80	£62.40
Phosfor Bronze Brush 45	10	£4.80	£48.00
Phosphor Bronze Brush .270	10	£3.45	£34.50
Phosphfor Bronze Brush 20b	5	£3.95	£19.75
Phosphor Bronze Brush .50	3		
phosphor Bronze Brush .60	2		
Phosphor Bronze Brush 12b	6	£3.15	£18.90
Nylon Brush 22	1		
Nylon Brush 30	16		
Nylon Brush 40	5		
Nylon Brush 45	2		
Nylon Jag 20b	3		
Nylon Jag 12b	1		
12b Safety flag	1		
12b Muzzle Mop	1		
12b Loop	1		
20b Snap Caps	3		
American Thread jags	9		
MTM R100 ammo box	1		
MTM P100-45 Ammo box	7		
MTM sempa wellst I	1		
MTM ammo wallet L	1		
MTM blue gadget box	2	£3.95	£7.90

MTM H50-RL ammo box	2	£9.95	£19.90
MTM H100 ammo box	2	£14.95	£29.90
MTM RL-50 ammo box	1	£5.15	£5.15
MTM front rifle rest	2	£47.00	£94.00
Lee Quick Trim die various	8	£19.95	£159.60
Lee Micro Disk Powder measure	2	£8.95	£17.90
Lee AutoPull Back Kit	1	£3.15	£3.15
Lee Swivel Adapter	2	£5.95	£11.90
Lee .457 bullet sizing die	1	£15.00	£15.00
Lee .303 decapping pins	8	£3.95	£31.60
Lee 5 station shellplate #2L	1	£25.00	£25.00
Lee 5 station shellplate #11	1	£25.00	£25.00
Lee Feed fingers & die #4	1	£12.00	£12.00
Lee Feed fingers & die #3	1	£12.00	£12.00
Lee Cast link for press	1	£4.00	£4.00
Lee pro 1000 primer chute	4	£5.50	£22.00
Lee universal decpping pins	3	£4.50	£13.50
Lee Poly Carb powder measure	2	£4.90	£9.80
Lee shellholder for AP various	8	£2.95	£23.60
Lee shellholder press various	6	£4.45	£26.70
Lee Ball handle cutter	1	£8.95	£8.95
Lee 3 Jaw Chuck	7	£13.95	£97.65
Lee Liquid Alox	1	£7.15	£7.15
Lee 7mm/08 die set	1	£33.00	£33.00
Lee 30-06 dieset	1	£20.00	£20.00
Lee 4 hole turret	3	£14.00	£42.00
Lee 3 hole turret	3	£17.00	£51.00
Lee Carbide sizer die .38sp	2	£15.00	£30.00
Lee 44sp powder through die	1	£12.00	£12.00
Lee Ergo priming tool	1	£43.00	£43.00
Lee Auto primer for press	1	£18.00	£18.00
Lee smallprimer feed for loadmaster	1	£24.00	£24.00
Lee7.5 MAS die set	1	£32.00	£32.00
Lee 222 die set	1	£32.00	£32.00
Lee 22/250 die set	1	£32.00	£32.00
Lee Ergo prime update kit	1	£14.00	£14.00
Lee adjustable charge bar	1	£10.00	£10.00
Lyman Moly Powder tub	1	£29.85	£29.85
Lyman Moly Bore Cream	2	£19.95	£39.90
Lyman Case Lube pad	1	£3.00	£3.00
Lyman Mould Handles sm	1	£25.00	£25.00
Lyman Sizing die .450	1	£25.00	£25.00
Lyman Alox Lube	4	£4.95	£19.80
Lyman Primer tray	3	£4.95	£14.85
Lyman .457 Bullet mould 535gn	1	£45.00	£45.00
Lyman .457 Bullet mould 480gn	1	£45.00	£45.00
Lyman .457 bullet mould 475 gn	1	£45.00	£45.00
Lyman top punch various	4	£8.00	£32.00
SPG Bullet lube	2	£5.95	£11.90
Bonanza Powder Measure	1	£5.00	£5.00

Hornady Die Bushing set of 3	2	£24.00	£48.00
Dylan 45-70 conversion kit	1	£15.00	£15.00
RCBS Rotary Case trim collet #2	1	£10.00	£10.00
RCBS 4x4 Auto shellplate #18	1	£29.95	£29.95
RCBS 5 stattion shellplate #6	1	£18.00	£18.00
RCBS case neck brush	4	£3.95	£15.80
RCBS drill converter	1	£4.00	£4.00
RCBS Pro 2000 Star Wheel	1	£8.95	£8.95
RCBS decapping pins sm	1	£8.00	£8.00
RCBS Powder checker	1	£25.00	£25.00
RCBS 7.62x54 Neck size die set	1	£33.00	£33.00
RCBS 7.62x54 full length die set	1	£40.00	£40.00
RCBS 45ACP taper Crimp die	1	£10.00	£10.00
Pedersoli cleaning kit 36-45	1	£40.00	£40.00
Pedersoli cleaning kit 45 wood box	1	£40.00	£40.00
Protector plus waterproof spray	5	£8.95	£44.75
Bisley handkerchief set 3	2	£8.00	£16.00
crossbow bolts	17	£3.95	£67.15
pistol crossbow bolts	3	£3.00	£9.00
Longbow belt quivers	3	£5.95	£17.85
Ruger bolt action rod guide	1	£44.00	£44.00
Puppy dummys	2	£5.95	£11.90
Smith & Wesson workshop manual	1	£15.00	£15.00
UTG 30mm scope rings medium QD	2	£35.00	£70.00
UTG 30mm scope rings low QD	4	£35.00	£140.00
UTG 30mm scope rings high QD	4	£35.00	£140.00
UTG 1 inch scope rings medium	1	£30.00	£30.00
UTG 1 inch scope rings low	3	£30.00	£90.00
UTG 1 inch scope rings high	7	£30.00	£210.00
Hawke 1 inch Weaver 2" reach high	1	£25.00	£25.00
Hawke 30mm weaver high	3	£20.00	£60.00
Hawke 1 inch Weaver low	3	£20.00	£60.00
A-Zoom 7 x57 snap caps	1	£9.00	£9.00
B-Square SMLE scope mount	1	£76.00	£76.00
B-Square adjustable scope rings	1	£30.00	£30.00
Leupold Rem 700 scope block silver	2	£35.00	£70.00
Williams FP94 SE TK rearsight	1	£60.00	£60.00
Williams FP94 SE rearsight	1	£58.00	£58.00
Williams firesight bead for rifle	1	£10.00	£10.00
Surefire Torch belt holster	1	£15.00	£15.00
Weaver scope base Marlin 39 pair	1	£10.00	£10.00
Kwik Site see trough scope rings Win 94	1	£20.00	£20.00
30mm Weaver rings Med	3	£20.00	£60.00
Harris no 4 adapter	1	£23.00	£23.00
Harris no 6A adapter	1	£12.00	£12.00
Volquartsen extended mag release 10/22	1	£20.00	£20.00
Parker Hale steel 1 inch rings	1	£15.00	£15.00
Parker Hale 30mm rings	1	£15.00	£15.00
Ruger stainless steel rings	1	£15.00	£15.00
HKS speedloader	2	£10.00	£20.00

Remington 597 scope rail	1	£15.00	£15.00
Warne M924m Scope block	1	£10.00	£10.00
Gunlock	1	£10.00	£10.00 £45.00
Umarex Floatro det sight	1 1	£45.00 £39.00	
Umarex RDS6 red det right	1	£83.00	£39.00 £83.00
Umarex RDS6 red dot sight UTG 2-7x32 Handgun scope	1	£119.00	£119.00
UTG 4-16x50 illuminated reticule scope	1	£1195.00	£195.00
Richter Optic 3-9x42 AO scope	7	£85.00	£595.00
Richter Optic 3-9x40 scope	1	£75.00	£75.00
Bushnell 6-18x 50 s/hand with rings	1	£95.00	£95.00
Bisley pellet pouch	1	£13.00	£13.00
Hawke scope rings 2p 30mm med dovetail	3	£23.00	£69.00
Hawke scope rings 2p 1"extension 30mm dovetail	2	£24.00	£48.00
Nikko Sterling scope rings 2p 1" high dovetail	3	£17.00	£51.00
Range Right scope rings 2p 1" high dovetail	3	£17.00	£51.00
Weaver type 30mm high rings	1	£17.00	£17.00
2p 1" high dovetail rings	4	£17.00	£68.00
Weaver multi fit base	1	£22.00	£22.00
UTG dovetail to weaver adaptor	1	£13.00	£13.00
Richter Optic 20 1" rings med	1	£17.00	£17.00
Sportsmatch rings 30mm extended	1	£35.00	£35.00
Sportsmatch C Cell torch mount	3	£14.00	£42.00
Sportsmatch arrector block for dovetail	2	£11.00	£22.00
Sportsmatch dovetail to weaver adaptor	3	£36.00	£108.00
Sportsmatch spirit level	1	£32.00	£32.00
Bisley 90mm scope eyepeice extension	2	£10.00	£20.00
Bisley pellet pouch hard leather	1	£26.00	£26.00
Ruger rings KD72M s/steel	1	£55.00	£55.00
Deben Atom filter red & Amber	3	£7.00	£21.00
Deben Mini Amber filter	1	£7.00	£7.00
Deben Tracer Compact filter red & amber	2	£7.00	£14.00
Deben Atom spare bulb	1	£17.00	£17.00
Deben universal swivel mount	1	£8.00	£8.00
Deben battery charger	1	£10.00	£10.00
Deben ciger lighter adaptor plug	1	£10.00	£10.00
Gr8fun target set	1	£10.00	£10.00
5 bull paper targets pack 50	21	£2.00	£42.00
1 bull coloured targets pack 50	7	£2.00	£14.00
Shoot-N-C targets 6"	7	£7.00	£49.00
Shoot-N-Ctargets 2"	2	£7.00	£14.00
Shoot-N-C targets 1"	9	£7.00	£63.00
Bisley Yellow pellet catcher	2	£15.00	£30.00
Chalk targets 42mm	11	£10.00	£110.00
Chalk targets 2"	2	£8.00	£16.00
Chalk targets 1"	3	£7.00	£21.00
Hawke 8x21 binocular	1	£25.00	£25.00
Bisley slip on buttpad 10mm	1	£7.00	£7.00
Bisley 20b shotgun leather forend grip	1	£26.00	£26.00
Bisley 12b shotgun leather forend grip	1	£26.00	£26.00

Bisley rubber comb raiser 10mm	2	£7.00	£14.00
Bisley leather shooting glove XL	1	£20.00	£20.00
Bisley Bipod 6"-9"	1	£78.00	£78.00
Bisley Bipod 9"=13"	1	£78.00	£78.00
Butt spacers	2	£8.00	£16.00
Folding walking stick	1	£20.00	£20.00
Ox airgun springs nos.2,4,4,5,6	5	£20.00	£100.00
Harris type bipod 9"	1	£15.00	£15.00
•••	2	£36.00	£72.00
Swiss Arms rigid plastic holster - Glock 17	1	£36.00	£72.00 £36.00
Swiss Arms rigid plastic holster universal	2	£27.00	
Swiss Arms rigid plastic holster - Colt 45			£54.00
Hw100 single shot adaptor. 22	2 1	£35.00	£70.00
Bsa single shot adaptor .177		£32.00	£32.00
BSA Super 10 magazine .177	4	£35.00	£140.00
B-Square bipod leg extenders	2	£15.00	£30.00
Safety glasses	3	£5.00	£15.00
Uncle Mike radio case with swivel	1	£35.00	£35.00
Greenkat type spotting scope	1	£35.00	£35.00
Lyman 20x telescopic sight	1	£50.00	£50.00
Large paralax wheel	2	£10.00	£20.00
Tasco laser range finder	1	£179.00	£179.00
Remington 700 long action replacment floor plate	1	£42.00	£42.00
Remington 700 long action 10rd magazine for above	1	£65.00	£65.00
Ruger BX-25 magazine	1	£38.00	£38.00
Ruger 77/357 4 rd magazine	1	£48.00	£48.00
Pedersoli cleaning kit for 36-40 cal	2	£39.00	£78.00
Pedersoli 4 piece cleaning rod	1	£17.00	£17.00
Pedersoli mid rnage Creedmore rearsight	1	£200.00	£200.00
Marlin 22WMR maazine	2	£13.00	£26.00
Pair ivorine grips for western revolver	1	£20.00	£20.00
CZ 22WMR magazine	1	£29.00	£29.00
Bipod to fit on weaver base	1	£50.00	£50.00
Warren 45 bronze brush USA thread	3	£3.00	£9.00
Warren 54 bronze brush USA thread	3	£3.00	£9.00
Warren 54 wool mop USA thread	3	£3.00	£9.00
Ox yoke 50-59 patches 5thou	6	£5.00	£30.00
Pedersoli .31 patches	17	£4.00	£68.00
Pedersoli card of sigh elements	2	£8.00	£16.00
Enfield no 4 .303 magazine with clips	1	£50.00	£50.00
Price Western leather speedloader pouch	1	£25.00	£25.00
Cordura speedloader pouch	1	£10.00	£10.00
Leather shoulder holster for 6" revolver	1	£20.00	£20.00
Various muzzleloading accessories, spouts etc			£0.00
Umarex Beretta walnut grips	1	£20.00	£20.00
Weihrauch HW45 walnut grips	1	£20.00	£20.00
Kowa 20x60 spotting scope	2	£95.00	£190.00
Rhino 20x60 spotting scope	1	£40.00	£40.00
Powerpellet lube	16	£3.00	£48.00
			£0.00
			£0.00

£0.00 £0.00

£0.00

£5,739.94 £2,869.97